AIVIO

MANUAL VALVE
4000-40 >
DP40 Specifications: 57
B6:
0 1. Valve mono-block gs
E 2. Mounting: 2 bolts M8 Dg #
3. Fluid medium: mineral oil based g ;
4. Viscosity: 12~800mm?2/s permissible range 1 =i :
E 5. Working temperature: -15°C~+80°C IFlo»\:/ ri(g ( l/m3ig ; 40 .
T 6. Filtration: Oil contamination 10 to NAS1638
1 7. Max. operating pressure: P=250 bar
: T=50 bar
i_ A, B=300 bar
} 8. Internal leakage: 5cm3/min @ 100 bar g
;_ 9. Nominal flow: 30 to 40l/min §
10. Spool stroke: +6mm =
11. Actuating force: <200N in spool axis g
Description: direction
For starting, controlling and stopping the working fluid between the generator of | 1 | 20 3:0 : 4:0 :
pressured flow, the consumers and the tank. Flow rate (1/min )
TYPE Max. flow Max. Pressure P1 P2 T1/N T2 A B ~ Weight
l/min (bar) (BSPP) | (BSPP) | (BSPP) | (BSPP) | (BSPP) | (BSPP) KGS %
DP40/1P-* 40 250 172" NO 1/2” NO 3/8” 3/8” 240 _ :
DP40/2P-* 40 250 1/2" 1/2" 172" 172" 3/8” 3/8” 4.20 P
DP40/3P-* 40 250 2 | U2 1/2" 1/2" 3/8” 3/8” 6.00 g3
DP40/4P-* 40 250 12" | L2" 172" 172" 3/8” 3/8” 7.65 £ i
DP40/5P-* 40 250 12" | L2 1/2" 1/2" 3/8” 3/8” 8.80 £2.
DP40/6P-* 40 250 12r | 12" 172 172 3/8” 3/8” 9.50 g AN
DP40/7P-* | 40 250 2r |12 v2r |t | 3 | s 10.90 Flow e (Vatin)

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



AIVIO MANUAL VALVE

DP40® / 2P® — A® 80 |6 — D© 3P0 | © - R6

0 Valve type

e Number of spool

e First spool type

9 First spool control on ‘A’ port

9 First spool control on ‘B’ port

e Second spool type

Q Second spool control on ‘A’ port

I SQ I
P ! L | ]
9 Second spool control on ‘B’ port | =
(» = \

@ Outlet L e 3

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



AIVIO MANUAL VALVE

CODE CONTROL SCHEME CODE CONTROL SCHEME CONTSF\E)gSL CONTROL ON “A” PORT GENERAL
1 nba 2 1 nba 2 CODE DESCRIPTION
. ll‘ Til lx y lTl 111 lx SCHEME — — — DRAWING
positions; ¢1+2’ spring, still a
TYLLITTIT TIWTTTIT ! 5%
npt ipt 3 positions; ‘1’ detent, ‘2’
1 nba 2 1 nba ) 2 um v 4
Tl Tll ll/‘ lii L 1L ll/; Spring
B N _ - 3 positions; ‘1’ spring, 2’
TV TTiT /T TTYTTTIT 3 110]2] detent
1 nba 2 1 nba 2 4 2 positions; 2’ spring
[11
C lTl e T \i o) lTl palei \l 5 2 positions; “1” spring ? ul
0] IO Y B TITITTTITT > bositions- ‘142 sori : |
np - positions; ‘1+2’ spring, still at h
1 nba 2 1 n [l: a 2 ° n- v
5 —LTl A Ll i >< 5 i‘i L \_l L >< 7 1 1[0]2] 3 positions; ‘1+2+3’ detent
3 positions; standard sprin
T 1 I‘ il T II‘ i 8 (1]0]2] p carn pring
ll ; b 1 f lll l" h T f 9 1 1[0] 2 positions; “0+1° detent
E TTl % T >: Q T i T T. T >< 10 0 [2 ] 2 positions; “0+2’ detent
| ':] E T —= z = 11 M1 [2ma 2 positions; ¢1+2’ detent
- lTi U.l l>< . LTi lli l>< Spring-centered on/off
8P ] 9 pneumatic control Pressure
LIVLTYIT TIVITIYIT L1o]2] 5-10 bar (72~145 psi)
Spring-centered on/off
Tl T l/‘ J_ll 1 _|_/‘ 8H 110721 hydraulic control Pressure 6~20
G S bar (87~290 psi)
TYIT /T TTYIT /T Spring-centered on/off
8HE S 1[0]2] electrical hydraulic control _
lTl T \i -‘-TJ- T {_ Pressure 6~20 bar (87~290 psi)
H T
TITIT TITITT E 2“— Microswitch ]

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



AIVIO

MANUAL VALVE

SPOOL CONTROL ON “B” PORT
CODE | CONTROL SCHEME DESCRIPTION GENERAL DRAWING
L m_- Standard cvc:er;tt;c:);lhand lever é}:
| e | semmememee | TR
L2 m_. Standard (i/c;r:tt:sélhand lever ?}E
5| OWIEE, | Sedomdmdee | o

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.




AIVIO

MANUAL VALVE

1/2"BSPP

1/2"BSPP

240

1/2"BSPP

60

215

3/8"BSPP

100

3/8"BSPP

8
DESCRIPTION C D
(mm) | (mm)
DP40/1P 85 60
DP40/2P 129 97
DP40/3P 164 132
DP40/4P 199 167
DP40/5P 234 202
DP40/6P 269 237
DP40/7P 304 272

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



AIVIO MANUAL VALVE

NO. Description Part Number | Qty
1 Body 40004001 1
2 Ball 40004002 1
3 Spring 40004003 1
4 O-ring 40004004 1
5 Plastic plate 40004005 1
6 O-ring 40004006 1
7 Body, Cartridge 40004007 1
8 Plunger 40004008 1
9 Spring 40004009 1
10 Pressure Cap 40004010 1
11 Body 40004011 1
12 | 10mm adjust screw 40004012 1
13 10mm nut 40004013 1
14 Screw cap 40004014 1
15 | M6x15 TAP screw 40004015 2X*P
16 Spring cap end 40004016 1x*P
17 Screw 40004017 1x*P
18 Spring cap 40004018 2X*P
19 Spring 40004019 1x*P
20 Steel ring 40004020 1x*P
21 O-ring 40004021 1x*P
22 Valve spool 40004022 1x*P
23 3/8” plastic cap 40004023 2X*P
24 Plug 40004024 3
25 1/2” BSPP plug 40004025 3
26 Control hand lever 40004026 1x*P
27 8mm nut 40004027 1xX*P
28 Rubber cover 40004028 1x*P
29 1/2” Plastic cap 40004029 2
30 Stroke plunger 40004030 2X*P
31 M6x50 TAP screw 40004031 2X*P
32 Lever Cap 40004032 2X*P
33 6mm Pin 40004033 2X*P

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



MANUAL VALVE

1/2" BSPP

1/2" BSPP

240

12" BSPP

(@)
O
‘ 54 ‘ 100 102
1/8" BSPP
3/8" BSPP 3/8" BSPP
1/2" BSPP
DESCRIPTION | , © D
(mm) | (mm)
DP40/1P 85 60
DP40/2P 129 97
DP40/3P 164 132
DP40/4P 199 167
DPA40/5P 234 | 202 I
DP40/6P 269 237
DP40/7P 304 272

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



AIVIO MANUAL VALVE

Description-

Item NO. ENpG QTY
1 End-Spring 2
2 Spring 1
3 Connector housing 1
4 Special connector 1

Screw
5 Control Spool 1
6 Body 1
7 Spool Housing 1
8 Cover 1
9 Screw 2

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



MANUAL VALVE

1/2" BSPP

1/2" BSPP

240

1/2" BSPP

o
O
54 ‘ 100 ‘ 106
1/8" BSPP
3/8" BSPP 3/3" BSPP
D "
DESCRIPTION | , © L2 BEEE
(mm) | (mm)
DP40/1P 85 60
DP40/2P 129 97
DP40/3P 164 132
DP40/4P 199 167
DP40/5P 234 202
DP40/6P 269 237 12" BSPP
DP40/7P 304 272

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



AIVIO MANUAL VALVE

Tube P (20bar) Tube T
125.00.21 125.00.22

Straight male
GES8-PLR-ED

T
3
‘ 289 o . Transition G3/4"-G1/4"
' i 123.81.00
=%
S
=~
| [ ;
| |
il X IN ; — : —
& :
L M T |
Te’ N
DESCRIPTION v »
(mm) | (mm) : : Eﬂ | |
DP40/1P 130 62 @ o= : M
DP40/2P 165 97 ] ! . H :% ;:
DP40/3P 200 132 12;155) o E‘}M A A
DP40/4P 235 167 =
DP40/5P 270 202 - - }~
DP40/6P 305 237
DP40/7P 340 272

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



AIVIO

MANUAL VALVE

Item Description-
NO. Part NO. ENG QTY
Collector
1 129.56.00.01 CEED4/P80 1
2 79.90.00.00 kit ED3 4
3 - Screw M5x40 10
4 i Plug metal 3
DIN3852-E-G1/4
5 i ED-Ring G1/4 3
DIN3852

Coil LC2-08-C-1H

Hydraulic pilot pressure
min 6 bar
max 20 bar

Max pressure in T line: 25 bar

Solenoid valve
. . LSV2-08-3C .~
Solenoid operating features

Nominal voltage tolerance: +10%
Power rating: 24W
Duty cycle: 100%

VRP
79.91.00.00

High pressure bandgo elbow
TN11 GG-08LR-315

©

(o) ©
!

For further special requests, please consult our technical/commercial service. The company reserves the right to change the dimension without prior notice.



